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For the following systems, determine which frequency response plot (A, B, C, D) matches.

(@) For thefollowing system
y[n] = —0.8y[n — 1] 4+ 2x[n]

deriveasimple expression for [H (el®)|, and select the appropriate plot.

(b) For the following system derive a simple expression for |H (el®)|, and select the appropriate
plot.

y[nl = 22x[n] — 23x[n — 1] 4 2ix[n — 2] — 2ix[n - 3]

McClellan, Schafer and Yoder, Signal Processing First, ISBN 0-13-065562-7.
Prentice Hall, Upper Saddle River, NJ07458. (©) 2003 Pearson Education, Inc.



